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Special credit will be given for precise and correct answer. Marks will
be deducted for spelling mistakes, untidiness and illegible handwriting.
The figures in the margin indicate full marks.
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Answer any six questions :
i) ‘TEe ZeT @I A A MR AFTS! AT —  (F IENR @2 AN P Y]
FLCHCA R SACAAT T2 |
"Communication is a process which increases commonality." Who
said this ? Discuss very briefly the issue.
ii) OIS WP FoAATE ST o1 |
Write briefly about Group communication.

iii) SRR AT TATE FRTFC A T |

Discuss briefly about interpersonal communication.

iv) Q@oF & e SaW ?

Is radio an intimate medium ? Write briefly.

V) oA WKW FI P RCHCA [T T |

What is new media ? Explain briefly.
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Vi)

vii)

viii)

ix)

Xi)

xii)
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What is linear model ? Write briefly.
FIASATEHA I ? o5 FAR o1 |

What is convergence ? Write briefly.

fa-Ba 22 OCEH o1 (F FERMRCAN P S5 I 93 ©F o3 |

Who introduced Two-Step Flow theory ? Write this theory within

few words.
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What is Gate Keeping theory ? Write within four lines.
SN SN 0F T o5 FAR o3 |

Write briefly about the Communist Media theory.
TER S ©F [F S Qg (W P g FUF o1 |

Does Development Media theory give importance

development ? Write briefly.
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What is Verbal model ? Give answer with example.
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Answer any two questions :

i)

TerRA! il og Rem Ty F96 |

Explain in detail the Diffusion of Innovation theory.

@AIoa AEFIEIZEA 2912 I FF |

Explain the Multistep Flow theory with a diagram.
LA 8 B ©F SO A |

Discuss uses and gratifications theory.
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What are the salient features of Lasswell model ? Explain.
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